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1.Which type of index defined the data distribution?
A. Unique Secondary Index

B. No Primary Index

C. Non-unique Secondary Index

D. Non-unique Primary Index

Answer: D

2.Why would VantageCloud Lake be chosen rather than VantageCloud Enterprise for a workload?
A. The integration that allows direct access to data already available in NOS

B. The requirement to use ClearScape Analytics with the workload

C. The capability to manage the environment via Console

D. The ability to use Compute Clusters for intelligent scaling

Answer: A

3.0Only managers should be able to see salary information in the employee table, and then only if the
employee reports to them.

Which feature supports this requirement?

A. Secure Zones

B. External Authentication

C. Sparse Indexes

D. Row Level Security

Answer: D

4. Which component of Vantage should be used for tactical queries?
A. Object File System

B. Compute Cluster

C. Primary Cluster

D. Native Object Store

Answer: C

5.Which type of model is designed for reporting?
A. Logical

B. Dimensional

C. Relational

D. Physical

Answer: C
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